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and-11/6 . Are the two lines parallel ﬁcrpen(licular jor neither?
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-2 and -1/2. Are the two lines parallel, perpendicular, @

through (9,11) and (15,27). A
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the y-intercept for the graph of this equaticn: (6x + SECE;fU (y=mx+b)
lbat3l=2 Y
9xT1bﬁj




Untitled.notebook May 15, 2017

{“:jl_%f

. Xg ~Ky
ks = 19/6.
K. (K,-Dand(1,12) m Jﬁz - J?_ﬂ{--‘.n'qj
o e
R,
1901 -y = LO®T) g
fiiak = 724 F i
_slu;:epmllcl w3 2y—1)=12x+3 —EE = q._l::l;__
P by -3 =12x+3 = 44
Jo:j = 12x +l K - =l
it ot |




Untitled.notebook May 15, 2017

st rimmdiolar te LI VAR b




Untitled.notebook May 15, 2017

(5, 6k} and (-3, 4k). If the slope istherpendicular to 173 Mind k.
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